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Erratum

In the article “Failure of the Loop Diuretic Torasemide to Improve Renal Function of Hypoxemic Vasomotor
Nephropathy in the Newborn Rabbit” by L. Dubourg et al. (Pediatr Res 47:504-508, 2000), the last two columns of Table
1 on page 506 did not appear in print and the last item in the first column should read “U, V” rather than “UK”. The
corrected table is reproduced below:

Table 1. Experimental data of the animals of groups 1-3, studied under hypoxemic conditions

Group 1 (n = 8) Group 2 (n = 9) Group 3 (n = 8)
Hypoxemia + Hypoxemia + Hypoxemia +
Control Hypoxemia Hypoxemia Control Hypoxemia Torasemide Control Torasemide Torasemide
(U1,U2-P3%) (U3,U4-P5) (US,U6-P5) (U1,U2-P3) (U3,U4-P5) (U5,U6-P5) (U1,U2-P3) (U3,U4-P5) (U5,U6-P5)
pH 7.51 £0.02 7.48 £0.02 7.48 £ 0.02 7.54 £0.01 7.48 +0.01° 7.49 +0.02* 7.53 £0.01 7.51 £0.02 7.50 = 0.02*
PaO, (mm Hg) 132.6 =54 43.0 = 1.0° 43.7 = 1.0° 143.6 = 3.2 42.4 + 0.69° 43.1 + 0.69° 1323 £33 422 +0.25° 42.1 £ 0.35%
PaCO, (mm Hg) 354 1.0 335 *0.6 33.1 £0.7° 343 £ 0.6 334x05 313 +03° 35605 33.6 = 0.6* 348 £ 0.7
HCO; (mmol/L) 27.7%+09 24.8 +0.8% 24.7 +0.9* 28.6 £ 0.6 25.0 + 0.7 24.1 +0.7° 295+0.38 26.7 = 1.1* 269 + 1.4*
Heart rate (beats/min) 293 =13 297 +9 298 =8 3039 301 = 10 320+9 309 =6 301 =9 316 = 8
MAP (mm Hg) 331 1.8 30.0 = 2.0% 27.3 £ 1.6 422*19 38.6 +2.25¢ 35.1+2.7° 46.8 £ 1.6 40.5 + 2,134 372 + 224
GFR (ml/kg/min) 220 %022 2.00 £0.21 1.54 +0.18% 2.01 £0.21 1.90 £0.21 139 £ 0.17* 2.13 £0.16 1.38 = 0.09%¢ 0.96 + 0.12%¢
RBF (ml/kg/min) 20.9 + 1.30 17.6 + 1.45 13.2 = 1.4° 16.5 = 0.87 13.4 £ 1.0%¢ 9.0 + (.74%¢ 19.8 = 1.10 12.7 £ 0.8 9.6 + 1.0
RVR (mm Hg/ml/kg/min) 1.66 £ 0.11 1.79 £0.19 238 +0.43% 2.59 £0.13 2.95 + 0.15¢ 4.01 * 0264 241 £0.13 3.25 + 0.20*¢ 4.12 + 0.36%4
UV (ml/kg/min) 0.076 = 0.005  0.074 + 0.005  0.057 = 0.005* 0.076 = 0.006  0.083 + 0.009  0.279 + 0.046%¢  0.076 = 0.006  0.181 * 0.031%¢  0.115 + 0.024*°
UV (mol/kg/min) 221 +0.65 1.78 + 0.40 1.04 +0.22 2.00 * 0.85 112+ 035  28.76 = 5.47°¢ 232+099 1589 + 4.46° 8.65 + 3.35"d
UiV (umol/kg/min) 4.73 =121 3.66 £ 0.74 291 =044 741 £ 1.24 791 = 1.42 10.32 + 1.83%4 724 £0.78 8.60 = 0.96 5.34 = 0.77%¢

For explanation see text (Material and Methods, Fig. 1).

The data (mean = sem) in each group of animals are the mean of two 30-min urine collections (U1/U2, U3/U4, U5/U6) with or without the
administration of torasemide (Torem®).

ab ) < 0.05, p < 0.01, respectively, vs control same group.

ede p < 0.05, p < 0.01, p < 0.001, respectively, vs same experimental period group 1.

* P1-P5 are defined in Figure 1.
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